M2 FsmdE: 04:28

1. R(X, VNSO HRUNTRATR, <2Z=max(X,Y). MU TEDHIRNZ

X\Y 0 1 2
0 0.1 0.05 0.1
1 0.2 0.0 0.1
2 0.05 0.2 0.2

BER(10 7)

A. P(Y=2, Z=2)=0.2.
B. P(Y=0, Z=2)=0.05.
C. P(Y=1, Z=2)=0.2.

D. P(Y=1, Z=1)=0.05.

2. R(X, VEXEDMELTRAR, O<a, b<1, MINTETIEHNZE

X\Y 0 1 2

0 a 0 b

1 b 2a b

2 0 b a
BYERA(10 7)

A DTEREEF(2, 1)=2a+b.
B. &P(X>Y)=0.2, Mla=0.15, b=0.1.
C. E(XY)=1.

D. SR REEF(1, 1)=2a.

SRR E BB A R TR f(x,y)=[ gx, OE?E’KW“’ S0, SO SERX ODIREEEEEN, NI TERERNE
BER(10 7)

A B0<<1BY, fy(y)=4y.

B. H0<x<IBY, fy(x)=4x(1-x).

C. 2o<x<1BY, fy(x)=4x(1- x2).

D. swo<y<1B, fy(y)=4y!/2.



4. BENTEXSVEEMIL, X~U0, 1), Y~U(1,2). RZ= X+7, f,(z) DZBRZERE, ML TRIRIEHRR

(10 %)

A. H2<z<3BF, fy(2)=z-2.
B. H1<z<2fT, f(z)=z-1.
C. Z0<z<1H, fy(2)=z.

D. P(X+Y<2)= .

5. RXS5YMIL, X ~N(Q2,3), Y~ U(0,2), MVar(XY)=
BEI(10 )

A.40/3.
B.3.

C. 1.

D. 16/3.

3x y
. _ . —,0<=<x<1,
B NHBABEEERS f(x,y)={ 2 2

0, Hfth.

M REIEF(2, 1)=
EAYERR(10 93)

A. 3/4.

B.1.

C.5/16.

D. 11/16.

7. RBENEEXSVIRMO-19%, P(X=1)=0.6, P(Y=1)=0.3, BE[X(1-1)]=0.4, &F(x.»)2X NHTEX)R0D B NN T ETIERNE
BEI(10 )

A.F(1.5, 2)=0.
B. F(0.4,0.3)=0.3.
C.F(2,0.3)=1.

D. F(0, 0)=0.4.

8. R, VMEXED RN P(X=i, Y=)=.(2i+j+1)/36, i, j =0,1,2% M=max(X,Y), N=min(X,Y), I FXIRERNE
BYER(10 43)

A. P(N=1)=5/12.
B. P(M=1)=1/9.
C. P(M<1)=1/6.

D. P(N<1)=5/18.

9. MEHLZEX,Y)~N(4, -3, 4,9, -0.5), WA TFEREHRNE
%310 43)



A. P(X>1-Y)=1/2.
B. X-Y~N(7, 19).
C.2X-Y~N(11, 25).

D. X+2Y~N(-2,28).

10. —EPH4DLIK, 3T EK.

1, #FiREBAHK,
0, #FiREBEIAK.
1, 2 iREREVIK,
0, #FiREREIARK.

EXARBEMHIIROR, SRRK IE X, = [

ERBREMHRKIR, SRRK IE v, =[

A TIEIRIE A H
L3EF(10 43)

A TE{ X =0 RETHNERGESMRESE( X =L EHTHLNEE D MEER.
B. P{ X,j1X;=0}=(7+1)/3, j=0,1.
C.X15xRE9%.

D.X,5Y,F% .

i=1,2.



